/ Quarter 2 Summative Review Name:_KEY
Secondary Math III Class:

Unit 4

State how many complex zeros the function has and identify as real and non-real.
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Write a polynomlal in factored form given the following zeros.
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Use the given zero to find all the zeros of the function.
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Convert the radical to exponent form and vice versa
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Solve the following equations, check for extraneous solutions:
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Graph the following and state the domain and range:
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Write the equation for the following graphs:
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Unit 6

Perform the following operations. List excluded values.
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26. It takes 1.5 hours for Tim to mow the lawn. Linda can mow the same lawn in 2 hours. How long will it
take John and Linda, work together, to mow the lawn?
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Find the inverse of the following:
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